SO,2M3198H0| 27| 2 HH(HE) - AAH| x|
Q-PAC®EZ AL2%H &4 H7| M7 A

=L

7 S EE0| gag If FEQ FE2 SOE TetELCEL MMl 052 ME ot &
2, 10 R AR Es 2R dASYLLHL ddkes SO 38 Hi7| 71222 HAHZE
LTt USLCL Y RAHSHK %OB, 9x BHo| AWE AU Lals IRt xhE A
YLICE SO, HIES O Z4AA|7(7] fIot 0| 2tEH9| Phase I f#AE52 2000H 0] H2&[ASL
Ch O] & &2 25MW O]y 832l 2E EUXAS0| MEFLCH

SO; HiE H|0f - &4 FTTH 17| MH7|

SO; HiEE Hotst7| fet 012 2EX0[1n H[EHOAM ZutEQl 2ho| &4 H 7| MEYLCH
ZEXQ MA ALESES L =6 ~ 12 gpm/fPTt G = 2500 ~ 3000 Ib/hr - fQIL|C}.
150°F(66°C)0J A 25,000 scfm (42,500 m’/hne| 27| 20| M&EX0l 3t 02 AtRsto], 1 I 7|

ME871E 2A5HH -

Q-PACY
0|2 E8 S2 #54583817

A2ZA = 7 ft (2100 mm)

209! CO, = 44,000 ppm,

291 SO, = 300 ppm,

X =8 = 350 gpm (79 m’/hr)

sl HiZE = 4 gpm (1 m’/h)

She iz £ 8¢ = nWUES = 5% 0|3}

MEY = 5 + JHIALH (NaOH)

H3 MM AL ZE = 50%

Sump pH = 7 O[5}

=X =0 = 8 ft (2440 mm) Q-PACY

Q-PACY 9t = £ 19 OI%X| (4.7 mbar)
20 M = 15 ft (460 mm) #2 NUPAC®

#2 NUPAC® 9t = &= 07 9I%X| (1.8 mbar)

SO, ™ &8 = 98% 0|4

CO; B2 I3 221E |4 = 0

O|2X 0l 7HdALCH A8 = 9 gal/hr (34 Liter/hr)
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